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2183
RO
NlgrsEoier 23
2T BRANAAR 28 (el &2)
SN -Z3= . (ZAH) - B Off &M I HHM HwESZ
10,051,277 11,134,758 1,083,481
=2 82,367 79,763 2,604
3 84,013 83,413 600
2 9,884,897 10,971,582 21,086,685
25t 2,121,046 2,686,119 565,073
ANAAD 43 637, 140 820,279 183,139
SATAYD 43 637, 140 820,279 £183,139
Upte | 167,312 178,100 A10,788
ArR 22| 68, 132 78,920 10,788
=Ll 32,932 41,820 8,888
2)Y=A AT 1Y U ME| 23 1,547,000 1,547 1,820 ~273
2)B28 ALUX K= B 9,500+1,4002 13,300 17,000 A3,700
2)gta ARE [Y(YT, HAXE) 23 2,550,000 2,550 3,000 1450
2SS JEE 7YY 2 5,155,000 5,155 8,000 £2,845
AEEEEER 830 2,000 21,120
3) BB BN & 2 70,000+204 140 1,260 A1,120
2)2elPYSYZHNSHEN S ALY 23 1,000%50004 500 1,000 500
DEEE] 4,300 6,200 A1,900
2)BRANALRFE DhAL] 2T 5,000¢4Z+110 2,200 2,600 5400
2)StZERIEIIA DHAHI ZH 5,000%208+15 1,500 3,000 A1,500
o1l 254,989 367,340 A112,351
ST 69,989 82,340 £12,351
NBEINADY LASY 23 11,499 13,600 ~2,101
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IERECIEPEEED A 50,00043% * 14 O1x15] 2,100 2,800 AT00
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1)2a ASHOIL] 2T 60,0004124+2402 14,400 16,800 2,400

NeEZs 2ASE0Y A& 50,000x1F*185 9,250 11,000 21,750

)24 S8 S0 2 50,000%2 <2402 24,000 28,000 4,000

03 =20¢dl 185,000 285,000 100,000

22 HASE ofH| 2 185,000,000 185,000 285,000 100,000

203 LR =& 179,500 239,500 A60,000
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DESHHANHER 23 10,000,000 10,000 16,000 216,000

NE2Is4 Z3 5,000,000 5,000 10,000 25,000

1) R SBAE A 23 10,000,000 10,000 15,000 5,000

NLEBERSXIAIG =& Z2& 21,000,000 21,000 30,000 48,000

NEYLHYS U 2THHLHE £ 2 28,500,000 28,500 38,500 10,000

NESIAsESAMSHL Y HE 25 23 26,000,000 26,000 30,000 24,000

1)SOCEED XHLRD =7 23 30,000,000 30,000 40,000 10,000

EIZIIGHCH R =& 4d& 17,000,000 17,000 20,000 A3,000

1)ENQIRI A A2 A 28 9,000,000 9,000 10,000 1,000

I EYSI=PNEYSPNReE=bN| 4 & 18,000,000 18,000 24,000 26,000

DUZTHZ AR DB E 2 5,000,000 5,000 6,000 1,000

A 2RsSE S 1,428,916 1,514,910 A85,994

XRA= KK 2 1,253,616 1,339,610 85,994

303 Z&3 1,222,016 1,308,010 85,994
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SA - B CRI(E0) - MIRAY - BISS Ofl &k ot 7| o HIDE
ICECES e 2 0 0 T.200 A T.200
12 JIEIEAS3 0 1,000 A 1,000
DUNKHIASE Zols 2a2 25 0 0 1,000 1,000
303 EAS 4,460 14,460 A 10,000
0 ma= 4,460 14,460 10,000
NBHOILRAT Sax B 23 0 0 2,500 22,50
DEADH MO S4T B 25 0 0 2,500 £2,50
NBZEHL 24 ZEOE 23 0 0 5,000 £5,000
NS 54 381,103 661,900 A280,797
SZet oINS 59,850 62,700 A2,850
AT QA2 QR FA 16,500 18,600 A2,100
201 Lor2H| 16,500 18,600 A2,100
01 AtR2e2ldl 11,900 14,000 A2,100
Negsy 7,900 10,000 £2,100
AN X ABNE SHALY 2% 900,0002! 900 3,000 £2,100
NSMEL 2Z 43,350 44,100 AT750
202 44| 4,250 5,000 AT750
01 =2UW0YI 4,250 5,000 AT50
DHEARA S oft| 2 4,250,0002 4,250 5,000 AT50
T 45,000 130,000 85,000
S22 ol BHE & =& 45,000 130,000 85,000
202 (48l 45,000 130,000 85,000
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Hp: H2RE 54
Ciel: XESeiaty (ol mel
SA - O(SH) - MSAY - BES 0l arey pIEL! HIRE2
CEEELT 5,000 30,000 285,000
122 alel eost 2 &45,000,000 45,000 130,000 85,000
zow aAss ol 2Y 276,253 469,200 192,947
zow ns=x 276,253 469,200 192,047
201 2o 47,100 73,100 26,000
01 A2l 47,100 73,100 226,000
1)t EH] 19,100 25,100 26,000
DDSVINE L BEHE 25 0% 0 2,000 £2,000
DSEEE M 23 08 0 1,000 £1,000
2N LBHALYS =ST 2 0% 0 3,000 £3,000
nagaxy 25,000 26,000 21,000
DSUAADE Y WRDS AYVAES H 25,000,000 25,000 26,000 £1,000
1) SAARNE 23 03 0 4,000 24,000
1) XHMICHICI DS 2 08 0 9,000 £9,000
1) 5828l Hs 28 0 0 6,000 26,000
202 048l 229,153 396, 100 A166,947
01 =Uhoin 229, 153 396, 100 216,947
DESTEIME=Te ] 229,153 39, 100 166,947
DEZ2ADSY DR(1F) 2% 78,052,540 78,053 245,000 £166,947
=0 By mHo &4 927,205 977,126 A49,921
2 25,637 24,033 1,604
& 10,043 10,043 0
= 891,525 943,050 AbB1,525
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SHol: 2AE AIEAIY E (SHol: &)

SN FH2 . (3H) - HRAY - BES O &+ o4 plE<LH HREZ

O &at= X3 12,500 14,000 21,500

01 YsHBAS 12,500 14,000 A1,500

02 ZesLsk= 12,500 14,000 A1,500

NOIFXI FHE2 X2 2% 12,500,000 12,500 14,000 A1,500

A1 QIR Tl 2 8 2 740,804 786,290 745,486

= 2,500 2,500 0

2 738,304 783,790 745,486

23|y QIZHHH X2EH 135,865 159,900 A24,035

202 O4dl 5,865 6,900 21,035

ENET 5,865 6,900 A1,085

NHSER3| HAEA 23 465,000 465 1,500 A 1,085

307 QI2H0IA 100,000 123,000 A23,000

02 QItANEX 89,000 112,000 23,000

121210 E HASH HAXI L] 2% 27,000,000 27,000 40,000 13,000

NAHTESR3 S RIZHEH XA Z2& 20,000,000 20,000 30,000 10,000

MIIEHH 223 K& 478,780 496,850 A 18,070

= 2,500 2,500 0

= 476,280 494,350 A 18,070

201 et 1,785 2,100 A315

01 Ar2teld] 1,785 2,100 A315

DE=Ea= 1,785 2,100 A315

VN Tes =P N E = 2 1,785,000 1,785 2,100 ~315
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SA - SASA) - HEAY - BES Off &M I HHM HusZ
301 2et2d=s 22,500 29,750 AT,250
s 2,500 2,500 0
= 20,000 27,250 AT,250
10 HArAHIZ24=2 17,500 24,750 AT,250
DALBIEH RS &AL 243 380 0 7,250 AT,250
307 gltold 454,495 465,000 210,505
03 AtzlEtHZx=2 454,495 465,000 10,505
DASIEH 223 240 Al Z & 439,495,000 439,495 450,000 210,505
FOXXIEE 243t 126,159 129,540 A3,381
201 Eer2dh| 120,674 123,440 A2,766
01 A2t 120,674 123,440 A2,766
DR =] 4,574 5,040 A466
2)FOUXXZZ 8 QL= X} 2 4,574,000 4,574 5,040 A466
DA EHIS X 7,100 8,400 A1,300
2)XXIHE SXE==H] Z& 7,100,000 7,100 8,400 A1,300
Negsg 2,500 3,500 1,000
2)NXIME QAehZA =S Z& 2,500,000 2,500 3,500 1,000
202 Ol 3,485 4,100 2615
01 =LHAb 3,485 4,100 AB15
DAXIME XK= Z& 1,485,000 1,485 2,100 AB15
HAXNYER Ag 23t 2,173,820 2,410,111 A236,291
= 56,730 55,730 1,000
s 73,970 73,370 600
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mI: MOAREE o2 2t
7l WEETSE S5 NIRRT 28 (2r9l: 8
A - B G(EH) - HPAY - B S Ol aro pIEL! HIDE 2
z 2,043, 120 2,281,011 237,891
HEHBE St dNANLERE 2 580,501 647,056 A66,555
2 49,130 49,130 0
i 531,371 597,926 66,555
UE BENEWAAMC HEE 2o 270,561 303, 156 A32,505
= 49,130 49,130 0
2 221,431 254,006 A32,595
201 Yereer| 236,726 247,056 A 10,330
= 49,130 49,130 0
2 187,506 197,926 A 10,330
01 ARzl 135, 146 131,476 3,670
AR 22l 5,000 0 5,000
X H RS ZHEA KN 5,000,000 5,000 0 5,000
1)=&l 1,920 2,250 A330
)BEIIBAAE SN B2 OF2X OfA 25,0002 %32 1282 1,920 2,250 7330
negsy 0 1,000 41,000
NEEEEE LR TPe 2% 0 0 1,000 A1,000
02 =322l 101,580 115,580 214,000
D AEEHIR T 101,580 115,580 14,000
2)BSI|EAAE RSB 3% 31,796,000& 31,79 45,796 14,000
202 o4l 11,135 13,100 21,965
01 =Ujolt 1,135 13,100 AT,965
NEN2HAAEY SXus L A 23 50,0003 *16.7H 2 835 2,800 21,965
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207 SO 0 20,000 A20,000
01 H2E9H| 0 20,000 20,000
1) NGHESERI | 2HE+EEA 0 20,000 A20,000
405 KHaHF SH 22,700 23,000 A300
01 AL ESH =8I 22,700 23,000 A300
NELA AHESE HYI| 7 Z& 2,700,000 «1CH 2,700 3,000 A300
AHEFH Y SWNFY 22 309,940 343,900 A33,960
201 Eer2d] 26,690 31,400 A4,710
01 At=2teldl 26,690 31,400 A4,710
1) Bt=EH| 26,690 31,400 24,710
2)HES/W 7 26,690 31,400 24,710
Al & A DERIE S/W 2 H0IE Z& 9,290,000 9,290 14,000 24,710

405 KHaHF SH 283,250 312,500 A29,250
01 AL ESH =8I 283,250 312,500 A29,250
NFUNSEAREHFAY(SHEE W) d& 20,750,000 20,750 50,000 A29,250
23l s € et &4 52,915 55,240 A2,325
< 20,070 20,070 0

= 32,845 35,170 A2,325

QYZRRA0 HEW=E XL =& 16,915 19,240 A2,325
s 3,070 3,070 0

= 13,845 16,170 22,325

201 ZEer2dh] 13,175 15,500 A2,325
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SN T SR(E) - MRAY - BYS il aro p[E-E" HIRS
201 Lereoy| [ 1,400 1,400 0
2 11,775 14,100 ~2,325
01 ARzl 13,175 15,500 n2,325
Negsy 4,475 6,800 12,325
PEZRANTIS DS AHUA 22 2H 1,675,000 1,675 4,000 n2,325
Z010| X EOjots MB2O| HBEHA 2E 269,252 308,802 39,550
= 7,600 6,600 1,000
= 53,900 53,300 600
2 207,752 248,902 A4, 150
H230l2 2% 2A5 184,336 222,886 /38,550
=2 7,600 6,600 1,000
[ 53,900 53,300 600
2 122,836 162,986 40,150
201 Leredy| 5,850 6,000 AT150
01 ARzl 850 1,000 A150
DEEER=1] 850 1,000 A150
RIS SA M2 MY 22X 850,000 850 1,000 A150
401 AEHIZLS O] 160,000 200,000 40,000
[ 50,000 50,000 0
2 110,000 150,000 40,000
04 A& 158,560 198,560 £40,000
NHLSI0ISES (H29) 2 A 158,560,000 158,560 198,560 240,000
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s R X 2 7
HIXYE S o2
F0I0l B HOiot

rr oy

3|
Al

Mg
0%
o
g

- SR1(B1A) - MR A

Jio

g

< 50,000 50,000 0

T 108,560 148,560 240,000

405 XHAHF SH 1,600 1,600
= 1,000 0 1,000

s 600 0 600

01 T ES 1,600 0 1,600
N&ELs0s 1,600,000 1,600 0 1,600

= 1,000 0 1,000

= 600 0 600

SHOIXl MHIA D&t 84,916 85,916 21,000
301 et2as 0 1,000 21,000
12 JIEtE2&3 0 1,000 A1,000
1EHEMHO0 328 0 0 1,000 1,000
HEHESA Qe &= 908,110 980,951 AT2,841
T DEHFMTSBL(LAN) DSt 397,939 413,932 A 15,993
201 ZEer2d] 318,402 328,402 210,000
02 3329 318,402 328,402 10,000
N3323 ¢ 268,196 278,196 10,000

2)2 N=# 220,091 230,091 10,000

3)E¢ Z & 558,140+1458| Hx12& 93,768 101,189 AT, 421

3)AE & 2 & 40,787,000 40,787 43,366 22,579

202 Oddl 12,155 14,300 A2,145
01 =LHAb 12,185 14,300 A2,145
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el

A X2 Dt

£ A KI(IA) - NI A BE= HwE2
NENSZ0IZEY XSS o 23 355,000 355 2,500 £2,145
405 RHarE S| 34,632 38,480 13,848
01 KU SEFSH] 34,632 38,480 13,848
NPHMART DH(S 2 16,152,000%14] 16,152 20,000 13,848
UHSAAAL OIF 29 510,171 567,019 /56,848
201 Y2 268,221 294,519 126,298
01 At=zeldl 7,358 8,656 ~1,298
DEEIES=] 5,108 6,406 ~1,298
2)ENSE 01ZY REFAX EUIIERIX 7Y 2 1,782,000 1,782 3,080 ~1,298
02 =zl 260,863 285,863 /25,000
12222 2 A 240,174 265,174 125,000
UYE MNIAHAY 01223 16,302 41,302 /25,000
3)E-2 By MM 23 2 1,902,000+138] Hx 18 1,902 26,902 25,000
401 AlZHI L2 112,000 142,000 30,000
04 Al&Hl 112,000 142,000 30,000
1)E-22 HAB|QAIAE DAL 2 40,000,000%14! 40,000 70,000 £130,000
405 Rt S| 129,950 130,500 550
01 KArUSEFSH] 129,950 130,500 1550
1ER0IS LS I 2 69,450,0008! 69,450 70,000 1550
=0l 4o B AS 9IS A 363,042 418,062 155,020
DISBESSAALY SRS ¢ 314,960 336,960 A22,000
401 AlEHIL 2] 78,000 300,000 £222,000
04 Al 77,000 298,000 £221,000




SN X
3% dNANYEF S H3
Chol: =0| 40| Al SAZS 9

0l 50| & BAS S HEAHIA B (B9l e
SN - SRA(EA) - MRAY - S 01l & o8 p[E-F" HmE=E]

NOISHIYBAIAY 25 2= 77,000,0002 77,000 298,000 £221,000

06 Al&SOHY] 1,000 2,000 1,000

NOFSBZYSAIAY IS0 B2 20| 23 1,000,008 1,000 2,000 1,000

402 QIZERHZOIH 200,000 0 200,000

RS 200,000 0 200,000

NEMKS LAY HAS 918 REYSY PENH 200,000,000 200,000 0 200,000

FAH1004)& 2ABAI ALY 2 435 48,082 81,102 £33,020

201 Lpt2g| 48,082 57,102 A9,020

01 At2rel| 0 9,020 19,020

1) Br 2| 0 6,020 26,020

2)OIOHZ SiHHZ BOX K= 23 02 0 420 A420

2)EEE NS(22M) A= 25 02 0 2,000 £2,000

RSDM L SYNH SR Y| 23 02 0 600 \600

2)AAXE oA HiBHI 25 02 0 3,000 3,000

Negse 0 3,000 3,000

2)RAUAI ALY ST FHAST 25 02 0 3,000 3,000

307 BI2tOIA 0 24,000 24,000

05 eIreIea 0 24,000 24,000

NEMKIS S2HOIB AL (HR) 23 0¥ 0 24,000 524,000

UH2ALH (BIXAD) 4,448,103 4,399,502 48,601

ol eyl 4,412,318 4,357,402 54,916

o2yl 4,412,318 4,357,402 54,916

101 124l 460,344 834,906 424,562
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A HY2LAHI(HEXAL)
=@ =2 (EERIE
SA - SASA) - HEAY - BES Ol &K JEA HwESZ
09 RIAHLAZ2 N2> 310,100 318,601 A8,501
DRINAAZ2RH(A DA 2 SH) 310,100 318,601 28,501
2)RINHAZ2EN DEEE REB 143,999 152,500 48,501
3)—?—j|74|9.t:§ﬂ gx= 2& 91,498,930 91,499 100,000 28,501
10 JIZN22USE 150,244 566,305 A416,061
NEHAIRA 150,244 566,305 A416,061
2)J1ZtHZ2 22X E&Z &3 23,938,980 23,939 440,000 A416,061
304 A=SRE=S 3,819,674 3,332,196 487,478
01 H32RE= 3,270,517 2,783,039 487,478
DEEE=E d& 1,614,595,800& 1,614,5% 1,481,851 132,745
NERSZREZ Z2& 1,003,731,200& 1,003,732 648,999 354,733
307 2I12+olH 61,000 69,000 28,000
07 H2N3=2 61,000 69,000 /8,000
DAIZZ=2Z 2 & 52,000,000& 52,000 60,000 8,000
JI2&Hl 35,785 42,100 26,315
Jl= &l 35,785 42,100 26,315
201 Ler2d 35,785 42,100 26,315
01 AtR2t2|H 35,785 42,100 6,315
DR =] 35,785 42,100 26,315
)HBXAD BHN2E 22,525 26,500 A3,975
3T HSY 2B 28 9,350,000 9,350 11,000 1,650
RN2E SEHI 3 3,825,000& 3,825 4,500 ABT5
N=3R= Z& 9,350,000 9,350 11,000 21,650
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